[(msoft drop/pungroomed)z]

=
o

T

=

10

(1/o,,,,) do/d log

Ratio to ATLAS

=
<
I

|
o
R

-
o
@

1074

[EEY

0.5

13000 GeV pp Jets
L L O Y L B B NN B
| Relative jet massp (ATLAS soft-drop observables) ]
3 . E
= . " s g =
B . _
= . =
— | [
- 13
5 G
— N e 8
— =HmM
— <
m i
- mks
- 18

N
I — O
= m ATLAS = c
~ 18
= ¢
- 4o

33
?| T AU R TN AU N PR SO N SRR NP RN AU N AT NN N |? =
: T T | T T T T | T T T T | T T T T | T T :
— —2
B : .
| —0.5

..... T T [ S S TR TR H O T T T SR I TR T

-1
soft drop, ungroomed 2
IpS" Y]

2
Ioglo[(m



	Contents
	Page 1


